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marks questions.

Y- / SECTION-A

T TRV Siar & 4 fafaw) 1
Name two unicellular organisms. A vri)ela, PM o ¢ LA

Gearel Fl S A F Sfehesre i ST HH 9a orar €1 (149 ? 1
Kicking a football requires less force than kicking a basketball. Why ? :

S e & T -g g TF 9 3 F TR R TR AN s e s an S s ¥ 0w 1
firemd fraprarar ?

The displacement - time graph of a body is parallel to time axis. What will you infer about
the velocity of the body ?

gl #r yus 0 #t Fllafafas qwder F fagia fafaw) 2

(@) ST
(b) WS AHEAA

State the principle involved in the following techniques of separation of mixtures :
(@@  Chromatography

(b) Fractional distillation

TR YR & 8 9 G Sas @ gufea €2 df e saw e ael wifveed & am fafaw 2

Which parts of our body are composed of nervous tissue ? Name the cells that make up the
nervous tissue. '




T N a LA T

6 FEW: 50 kg T 120 kg THAHM & o U2 F qeg TEarmtv S¢ @1 aRteer B it 3R TR 2
0m PTWEI (G=67x10 " Nm’kg ?)

Calculate the force of gravitation between two objects of masses 50 kg and 120 kg respectively
kept at a distance of 10 m from one another.

(Take gravitational constant G=6.7x 10" Nm? kg )

7 (a)  SEA IS FI WE FHifTw | aredevr it X A R fEg wer A w2 3
(b) T qYT ST I A FOK 7 a1 A F WA I 3ty Few an B, [ ?

_Aa)  Explain the term humidity. How does rate of evaporation depends on humidity ?

(b)  Why does a desert cooler cool better in the month of May, June rather than July,
" August.

8 gftanfya wifs) 3

e

(c) el

\\/-’Define :(a) Compressibility (b) Rigidity () | Fluidity

(9) ‘wrenssst facrem i Wi & e area ¥ T it w9 w0 9 g g FRE 3

‘Colloidal solution appears to be homogeneous but actually it is heterogeneous’. Give
justification for this statement.

10, wERREE g S et Y R o o s oy A 3 she 77 SR s 3
Fifsa | =T A e et & e fafau)

Out of unicellular and multicellular organisms, which one would you expect to be more
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efficient ? Give reason. Give two example of unicellular organism.

11 Frv fafEy ; 3
@) ufyeda FifvEme w5t aw ar red fuflrr @ & &)
(b)  ufaeHa iR fam R saeifr @ & sfer w@ a6 €
()  wEwEg Ul ¥ Tl "ag e refda & (gfe i o 2 2
Give reasons :
(a) The outer and side walls of epidermal cells are thick.
(b)  The epidermal tissue is in the form of a continuous layer and there are no intercellular

spaces present. _
(©) In desert plants epidermis has a thick waxy coating of cutin.

12 A # T W dew Fram fafaw) so g F owE WA W o4 kg FOTE WEA
35 ms ~ 1% YRIwS 3 ¥ e 9 B 1 T F1 wiasrqw 3 e 2 ?

w

State Newton’s third law of motion. A bullet of mass 50 g is fired from a rifle of mass 4 kg with an
initial velocity of 35 ms — 1. What is the recoil velocity of the rifle ?

w

‘13 e o W ek e e Ageaseadhl ey | g7 31 A A ARt 9T fii e @ 2

State the importance of the universal law of Gravitation. On what factors the value of “g” depends?

fopdt Zfe 7 oife & IR § TEd g e & & TR $F| 40T wag R an (g ? 3
4.0 Ushe TvE e o1 fareuma faaen €2

A tourist drops a rock from rest from a ground rail overlooking a valley. What is the velocity of the rock
after 4.0 sec? What is the displacement of the rock after 4.0 sec?

@ g a1 aTH g AfR-Ft g ¥ A uftads £ 27 1 59F gewe & @ A7 Ry s 3

a) fft 3w ¥ 39 F 39 g=wE 7 A7 w1 gy U |
b) faeft aftads F wed ux waw afada it awg & 9 & Ry s
What will we get -

a) If rate of change of velocities of an object is multiplied by its mass? A

b) Velocity at any particular object is multiplied with its mass? -,
¢) Change of momentum is divided by time taken for the change to occur? \.UNM

cuudors
Paged .. ‘ M’Yf;\’.})'—w}




16 I a1 9 H & o fafen) s = § uftads g € ong w6 sitea = $9 ofisfaa B 3
&7 =

Give two points of differences between speed and velocity. How is average speed of gn object
calculated when its speed changes ?

g7 TN A A Wit F wre-we FlFe T oft w41 i ¥ 3R werw & fm wd F v 3
B & A a= I S g F we e T A, 3§ it @ faen §1 5wk Wy
IHH! T8 WA O & W o Hg= TE | W ¥ IR T A F AN GHH|

()  'wra ¥ plge wem FH WeR g e w5 9ga gl 9 9 F aRafia s @t
Ty fafy %1 59 wem =t gfie #ifaw)

(i) ¥ T ygfa fafad st foF 37 gfifar & fag wam =i ot @ foeem gem 32 30= a0
feae e fomen wig % o e ferar s €1

(i)  FET T R ST g fafe |

Pradeep’s uncle was maintaining a poultry farm with his fields. Pradeep advised him that the
leftover grains after harvesting which were unfit for human consumption be given to the
fowls. His uncle accepted his advice but was not convinced. Pradeep explained him the
advantage of this practice.

(i) Poultry is India’s most efficient converter of low fibre foodstuff into highly
nutritious animal protein food. Justify the statement.

(if) ~ Write the nomenclature used for the birds which are reared for eggs and those
which are reared for meat ?

(iii) ~ What values are exhibited by Pradeep here ?

e

o 18 WY IR H ITAM H I At wyAlE F d\ it fHE F A fafe)

Name three Indian varieties of honey bee that are used in honey production. W
. ,rr- O

19  (a wﬁﬁmm@nmﬁw%aﬁmmﬁqﬁm: 17 s\, 5
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(b) 39 HEA sluEe Yk 0497 #e ¥ 2 o= i

(a) List out three differences between liquid state and solid state of  matter.

(b)  Explain why solid carbon dioxide is called dry ice ?

(@) e fao ug A & fade SRE . s

(b) 9! @, i N Fiew, Weels au wifeawm Dedies =1 o fagw o ma €)= fafey
1 Seei@ Hiford Forent IwdnT 39 39 fagw % et Y gus T F BT

(@)  Differentiate between a mixture and a compound.

(b)  You are provided with a mixture containing sand, iron filings, naphtha lene and
sodium chloride. Describe the procedures you would use to separate these constituents from
the mixture.

(@) A Ffve w1 T fod wiwer fllafafes st & amifea fefoe- Egme, w5
(b) T T Fas AW fafae

(i)  Sas & Uy e wr fmbe s &1 I

() Y F riend yeE R €

(i) 9N T FST FA AT FAA E |

(@) Draw a neat diagram of neuron cell and label on it the following parts :
Dendrite, Axon,
(b)  Name the simple permanent tissue wlu

(i)  forms the basic packing tissue. a/mzm'
(i)  provides flexibility in plants. @L’Mﬂ
(i)  makes the plants hard and stiff. A iy ma

(@) ‘g TG 1 RW @ | 3 A H uh ey wnfyd i 5
(b) ‘g TG I A fAfEd |

() HUd 9 | FH W 96 95 F 01 9 H 8 7

(a) Define ‘g’ and ‘G’. Also establish a relation between the two.

(c) Which force accelerates a body in free fall ?

(b)  Write the units of ‘g’ and ‘G’ ? 9.%9m (3)3665}-)(;5’,{)‘

e & A & faaret o nfa ¥ o0 & g %7 s gog oy 99 # sin wimar &1 092 10 s



e —

'ng%mmwﬁwmeaaaGﬁnaﬁsm/sﬁzsm/sffwam%l T ST

@

() e w99 & fog 9o = s ¥
(i) TEH Eh

A player catching a moving ball moves his hands backwards. Explain  why?
A force 40N acting on a body of mass 10 Kg changes its velocity from 5\}/5 to

' 25 m/s Determine ;
(i) Acceleration ' S
(i)  time for which force acts
(iif)  Distance covered. Q
2 (a) wﬁnﬁwq&nﬂqﬁﬁﬁﬁmﬁmaﬁww%mmﬁm 5
Hifor | "
(b) mﬁﬁmmﬁﬁwmmwwﬁmﬁwm|
(i) AL i) fi=
(iii) HR (iv) drefimm

()  FEGl H T v T ! Ry TR iR & 2

(a) Distinguish between macronutrient and micronutrients on the basis of
(i) their functions (i)  amount required by plants.

(b)  Classify the following elements as macro or micro nutrients in plants.
()  Nitrogen Gy~ Zinc
(i)  Copper (iv)  Potassium

(c) In what way deficiency of these nutrients harmful to crops ?

WTT-& /SECTION - B

25 mmwmﬁ%a@ﬁm%ﬁmzﬁmqﬁWW%mﬁmmmﬁm: 1
@  @IHCI (b)  AueE O
© @ s
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To test the presence of starch in the given sample of food stuff we should use :

(a) Dilute HCl (b) Methylene blue
(<) Safranin _@/ Iodine solution

ISF % 9R TEF A, B, C 91 D & e 3o e faew qun win sgileta sla sen 1
AR AT C FHN: A-Hre T a9 et 71 g9 ¥ 1 39 9% Frend freen w1 wwa @

@) AT wH R amC ¥ efra I, sElE B a9 D 96 ¥
EB‘)/AmCﬁEﬁ‘%sﬂ'{BamDﬁm%r

€ ATCH Hfe da siRBaADH = R

(d) CHwEE AT TRHN I, Jafs B D =@ €|

Four food samples A, B, C and D were treated with iodine solution and conc.HCl separately.
A and C showed blue-black and pink colour respectively. The conclusion drawn is :

(a) A/contains starch, C contain metanil yellow, while B and D are unknown.

7
(b) .~ A and C contain starch, B and D contain sugar.

) (c) A and C contain metanil yellow, B and D contain starch.

(d)  Ccontains starch, A contains metanil yellow, while B and D are unknown.

I T ¥ 1@ we % 9ol 991 gew USe & fagn ¥ w9 gllaw & an-an gur S § @ e 1
T Ja7v F9 T B 2

(@  @re % goi glas R favs S e

(b)  FeSHI FTel Ze4HM H &Il €|

(€  HeHt WSE ard A ¥ 9 w8

d) T F A v glaw F sfid g g

Which one is not observed when a magnet is moved repeatedly through a mixture of iron
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filings and sulphur powder kept in watch glass ?

Mixture of 3
Iron lillings
and sulphur

A Magnel
? _1ion fillings

Suiphur
tch ’f;

glass T

Iron filings cling to the magnet

(b) A black mass of FeS is produced

(c)  Sulphur powder is left in the watch glass
(d)  Any one of these attracted by magnet

fa=ferfaa & T o o1 fago glesra gl gri o fea s o 2
@ e qur e (b) ~ EEH AU AFH TCFES
()  d&d qY T (d) TR ISE AUl @re H GO

By using magnetic separation method, which of the following mixture can be separated ?

(a) Salt and naphthalene (b) Sulphur and Iron sulphide
(c) Rice and dal (d) ulphur powder and iron filings

fegmu fam & x Jar &2

| X
|
\9
Q.00
(@ BT AEEE (b)  HifE geHEe

©  Hrifrm (evgs d) Eifrm slees

What is ‘X’ in the given figure ?




Burning

magnesium
e X
13
o 29
(a) Magnesium nitride (b) Magnesium sulphide
(©  Magnesium chloride \g/ Magnesium oxide

30 wa A e B et § F Oar =& g s 22
@)  HIEEHA (b)  hrfere faeett
€ wEH (@  Hifern faflh

Which one of the following is not found ?@heek cell ?

(a) Cytoplasm [b)~" Cell membrane

(c) Nucleus (d)  Cell wall

31 Yga 33 W F i sufem A R
(@) Rfa = 3R
b F=H
(c)  oftfy qeun = & 99 ¥ F Hew gon
(d  EE
In striped muscle fibers, nuclei are present:  »

Yy " in periphery
(b) at the centre

(c) equally distributed in the centre and periphery

Page 10« *
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(d)  diffused

ot fagm & 2ot =1 g fafu g g P g 2 e & 1
(@) ifas B (b)y  TEEE fEa

()  guF T8I fe s wad (d) faga feEan

The corfiponents of a mixture can be separated by using :

(a Physical method (b)  Chemical method .

C) Cannot be separated ) Electrical method

Two bodies when placed in contact exert forces parallel to the surface of contact. This force is
called

(a) normal force (b)  contact force
(c) gravitational force  (d)  Frictional force.

4 Ne=kksa A, B, C »TKED ds dii, fTOY V7 i=k] ijlkufy:kaf if luyh TV’S T /55 K wed] 2
AL isonWi] LV Z (aM) » Fik Xyyuilkist, for: K ;K m Ughssarss okLrfod foyia] fisy Fo
r?ﬁf @W f:zy;u r'J;.gﬁﬁE?E g'fﬂu'ﬁf; Em a%_ﬁ’?&u?fg O,-qu Fﬁ-fd‘f&g g/ku‘]ﬁl,‘gaa
esa r-l&?;'ﬁz.m rMﬁ‘ng" i=K esa vo'ks'k wsf{k-r drﬁ%ﬁzmjw ks'k rFﬂfﬁ_y;u ds
iadj IR fu"d K fudRfy, 7

Four students A, B, C and D were given funnels, filter paper, test tubes, test tube stands,
common salt, chalk powder, starch and glucose powder. They prepared the true solution,

suspension and colloidal solutions. Test tubes were arranged as shown in the figure. Observe

the filtrate obtained in the test tubes and residue on filter paper. Conclude about filtrate,
residue and type of solution.

Filter paper 3
\i EL,;: i \@/ \;‘% — ‘\%\: 2/
\Q~ £ \ \\ A

N4 //
%——undue Ty NP4
\| [ e ]\j |1 \.\/1/
L F i |
~L ~1 N | |
L ! Lk LA P
= 2= b Test Tuge t_;f i-—\f:r 5—\":{
=== | s &35
259 Cle d i ¥ EEPS {2225 Translucent R
A L———~“_':i— we wA B[-—-——":J oo =25 word 7w D === Sa:!:;m

'Gﬁ"gz dk xyufad' rm{y dk eﬁo Fhukad fazjtl/l— fg‘ﬁ;‘f r?’ﬁ(’ %u { Sekus waf}f[ E;% 2

Write melting point of ice and boiling point of water in degree Celsius and Kelvin scale.

A student recorded the mass of dry raisins as 6.0g and mass of raisins after soaking them in 2
water for about four hours as 10.5g. Calculate the percentage of water absorbed by raisins.
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